Garland Independent School District

GISD Sourcing Bid Tab Report

Bid#: 31641 Title: 17-17 Refrigerated and Frozen Foods

Quote# Vendor / Supplier	EPCNT	Discou
472430 ADVANCE FOOD CO INC 472551 *ADVANCE SALES & MARKETING 472544 ADVANTAGE WAYPOINT LLC 472521 ASIAN FOOD SOLUTIONS 472542 BONGARDS CREAMERIES 472419 BRAUN BEEF CO INC 472539 BRIDGFORD MARKETING COMPANY 472485 BROOKWOOD FARMS INCORPORATED	Yes	N/A
472551 *ADVANCE SALES & MARKETING	No	0%
472544 ADVANTACE WAYDOINT LLC		
472544 ADVANTAGE WATFOINT LLC	res.	0.00%. Minimu
472521 ASIAN FOOD SOLUTIONS		
472542 BONGARDS CREAMERIES	NO	N/A
472419 BRAUN BEEF CO INC	ves	n/a
472530 RPIDGEOPD MARKETING COMPANY	Voc	
472405 DROOKWOOD FARMS INCORPORATED	Yes No	14/5
4/2485 BROOKWOOD FARMS INCORPORATED	NO	N/A 0 %
472440 BUENA VISTA FOOD PRODUCTS	Yes	Yes
472501 C H GUENTHER & SON INC DBA PIONEER	Yes	2% 10
472548 CAL-TEX CITRUS JUICE LLP	Yes	0
472508 *CAVENDISH FARMS INCORPORATED	The	0%
472510 CHEFS CORNER FOODS	ves	n/a
472598 *CHURCHFIELD TRADING COMPANY	NO	Yes
472386 CONAGRA FOODS INCORPORATED	No	NI/A
	Yee	2 Pallet
472406 DE WAFELBAKKERS LLC	res	
472413 DOUBLE B FOODS	Yes	All
472494 EICHENLAUB INCORPORATED DBA SUMMIT	Yes	0%
FOOD BROKERS		All
472547 *ES FOODS	Yes	0
472567 FOSTER POULTRY FARMS DBA FOSTER FARMS		minimu
472408 GOOD SOURCE SOLUTIONS DBA TOOLS FOR		
	ves as	15%
472407 GOODMAN FOOD PRODUCTS DBA DON LEE	N/A	N/A
472442 HANKS BROKERAGE	VAS	Λ
472378 HEART OF TEXAS BISCUITS INC	Yes	0%
472573 HIGH LINER FOODS USA INC	VAS	2% -
472499 INTEGRATED FOOD SERVICE	Yes ves Yes	AI/A
	res	N/A
	No. this	No
472561 J R SIMPLOT COMPANY	ves	Pricina
472464 JTM PROVISIONS CO INC	No	N/A
472560 LAMB WESTON SALES INC	NO	N/A
	140	
472487 MARGUERITTE DELLE NEWTON DBA NEWTON		0
472550 *MCCAIN FOODS	Yes	0%
472451 MCI FOODS INC	Yes	0%.
472414 MCLANE EXPRESS INCORPORATED	No	12%
472553 NATIONAL FOOD GROUP INC	Yes	NA
472546 OUT OF THE CHELL LL C DDA LINGS		
472516 OUT OF THE SHELL LLC DBA LINGS	Yes. as	
472562 PADRINO FOODS LLC	ves	n/a
472549 PILGRIMS PRIDE CORP	No	N/A
	Yes, as	0.00%
472550 PRAIDIE MILLS BAKING COMPANY LLC DRA		None
470546 DECEDE CINE COORS INCORDODATES		
4/2546 RESERS FINE FOODS INCORPORATED	NO	N/A
472382 RICH CHICKS. LLC	YES	
472418 RICH PRODUCTS CORPORATION	YES	0%
472532 *RUIZ FOODS INCORPORATED	Yes	N/A
472500 SCHWANS FOOD SERVICE	Additio	
472527 SKY BLUE FOODS LLC DBA SIMPLY BLUES DBA		
472519 SUPER BAKERY INC	No	0
472557 TAMPA MAID FOODS INC	NO	N/A
472493 *TASTY BRANDS LLC	Yes	N/A
472541 THE DANNON COMPANY INCORPORATED		N/A
	NO	
472552 THE FATHERS TABLE LLC	Yes	0
472504 *THE MASTERS DISTRIBUTION SYSTEMS	Yes	10%
472533 TYSON PREPARED FOODS INC	Upon	N/A
472570 WINDSOR QUALITY FOODS COMPANY LTD DBA		0
I TIZZIO TINDOUN WUMLII I FUUDO GUIVIFANT LID DDA	162	U

1NL - Not low when united price is calculated 3PQI - Product Quality Inferior 3TQ - Taste quality of product unacceptable 4NBV - Not best overall value based on extended pricing

9PS- Failed to provide product sample 4NS - Not to specifications 3PQI - Product Quality Inferior 4M0 - Minimum order quantities too restrictive

					*CONFIDENTIAL			
		Award	Reason					Extended
Line#	Item Description	(Y / N)	Code	UOM	Supplier	Qty	Price	Price
1	BAGELS, MINI STRAWBERRY CREAM CHEESE, 51% WHOLE GRAIN, INDIVIDUALLY WRAPPED, 72/CS	Y		cs	*TASTY BRANDS LLC	1500	\$27.89	\$41,835.00
				cs	*THE MASTERS DISTRIBUTION SYSTEMS	1500		·
				cs	MCLANE EXPRESS INCORPORATED	1500	\$29.05	\$43,575.00
				cs	BRAUN BEEF CO INC	1500	\$29.08	\$43.620.00

		Award	Reason					Extended
Line#	Item Description	(Y / N)	Code	UOM	Supplier	Qty	Price	Price
	BAJA ROASTED VEGETABLES, BLEND OF ROASTED CORN, CUT CORN, BLACK BEANS,							
2	RED AND GREEN PEPPERS, ROASTED ONIONS AND GREEN CHILIES, 6/2#/CS	Y		Ce	MCLANE EXPRESS INCORPORATED	250	\$25.71	\$6,427.50
	BEEF ENCHILADAS, 51% WHOLE GRAIN, MUST	Y		Co	MCLANE EXPRESS INCORPORATED	250	\$23.7 I	\$6,427.50
3	MEET 1/2 OZ OR MORE MEAT REQUIREMENT AND 1 BREAD SERVING	N	1NL	cs	MCI FOODS INC	3500	¢21 51	\$110,285.00
3	AND I BREAD SERVING	IN	INL	03	INCI FOODS INC	3300	\$31.31	\$110,285.00
		Y		cs	FOSTER POULTRY FARMS DBA FOSTER FARMS	3500	\$22.64	\$114,240.00
		Y		U3	FUSIER FARMS	3500	\$32.04	\$114,240.00
4	BEEF FAJITAS, RAW, LOW SODIUM, MARINATED PRE-CUT STRIPPED SKIRTS, 10# CS	Y		cs	MCLANE EXPRESS INCORPORATED	3500	¢EE 42	\$194,005.00
*	FRE-COT STRIFFED SRIKTS, 10# CS	Y		CS	MCLANE EXFRESS INCORPORATED	3300	\$33.43	\$194,005.00
				cs	BRAUN BEEF CO INC	3500	EC 27E	\$197,312.50
				CS	BRAUN BEEF CO INC	3500	36.373	\$197,312.50
				cs	GOOD SOURCE SOLUTIONS DBA TOOLS FOR SCHOOLS	3500	¢205.00	\$007 E00 00
				CS	TOOLS FOR SCHOOLS	3500	\$205.00	\$997,500.00
5	BISCUIT, PAR-BAKED, PRE-SLICED, NO TRANS FAT, 51% WHOLE GRAIN	N	3PQI	cs	ADVANCE FOOD CO INC	1500	\$10.00	\$15,000.00
5	FAI, 51% WHOLE GRAIN	IN	3PQI	CS	ADVANCE FOOD CO INC	1500	\$10.00	\$15,000.00
			480	ce	BRIDGFORD MARKETING COMPANY	1500	\$24.2E	\$24 97E 00
		N	1NL	CS	BRIDGFORD MARKETING COMPANY	1500	\$21.25	\$31,875.00
		Y		CC	CONACRA ECORS INCORRORATED	1500	\$23.55	¢25 225 00
		Y		U3	CONAGRA FOODS INCORPORATED	1500	\$23.55	\$35,325.00
				cs	PRAIRIE MILLS BAKING COMPANY LLC	4500	#20.0C	£45 200 00
				LS	DBA BAKE CRAFTERS FOOD COMPANY	1500	\$30.26	\$45,390.00
				cs	CHURCHEL D TRADING COMPANY	1500		
				- 03	*CHURCHFIELD TRADING COMPANY	1500		
				ce	BRAUN BEEF CO INC	1500	\$36.94	\$55,410.00
				- 03	BRAUN BEEF CO INC	1300	\$30.94	\$55,410.00
				cs	RICH PRODUCTS CORPORATION	1500	\$36.96	\$55,440.00
				- 03	RICH PRODUCTS CORPORATION	1500	\$30.90	\$33,440.00
6	BLUEBERRIES, IQF, 20 LB, BULK, USAGE DEPENDS ON USDA ALLOCATION	N	1NL	Ce	MCLANE EXPRESS INCORPORATED	2000	\$38.39	\$76,780.00
0	DEFENDS ON USBA ALEGGATION	N	INL	03	INCEANE EXPRESS INCORPORATED	2000	ψ30.33	\$10,700.00
		Y		Ce	BRAUN BEEF CO INC	2000	41.265	\$82,530.00
	PREADSTICK DOLICH 540/ WHOLE CRAIN 4 C			33	DIAMON BEEL GO ING	2000		Ψ 02, 330.00
	BREADSTICK DOUGH, 51% WHOLE GRAIN, 1.20z WHITE-WHEAT FLOUR AND PERFORATED TEAR							
7	LINES, 250/CS, RICH'S #12194 OR EQUAL	N	3TQ	CS	BRIDGFORD MARKETING COMPANY	750	\$19.10	\$14,325.00
<u> </u>		Y		CS	BRAUN BEEF CO INC	750	\$19.98	\$14,985.00
-				CS	RICH PRODUCTS CORPORATION	750	\$20.00	\$15,000.00
-				CS	MCLANE EXPRESS INCORPORATED	750	\$20.57	\$15,427.50
					PRAIRIE MILLS BAKING COMPANY LLC			
	PREAKEAST POLIND 51% WHOLE CRAIN			CS	DBA BAKE CRAFTERS FOOD COMPANY	750	\$22.80	\$17,100.00
	BREAKFAST ROUND, 51% WHOLE GRAIN, INDIVIDUALLY WRAPPED, CINNAMON CHIP, NUT							
8	FREE, UBR #08733 OR SIMILAR	Υ		CS	BRAUN BEEF CO INC	1500	\$35.98	\$53,970.00

Line# Item Description (Y/N) Code UOM Suppl CS RICH PRODUCTS COR CS MCLANE EXPRESS IN SKY BLUE FOODS LLI BLUES DBA CHINA BL	RPORATION 1500 ICORPORATED 1500 C DBA SIMPLY	\$36.00 \$36.43	\$54,000.00 \$54,645.00
CS MCLANE EXPRESS IN SKY BLUE FOODS LLE BLUES DBA CHINA BL	ICORPORATED 1500 C DBA SIMPLY LUES DBA SKY		,
CS MCLANE EXPRESS IN SKY BLUE FOODS LLE BLUES DBA CHINA BL	ICORPORATED 1500 C DBA SIMPLY LUES DBA SKY		. ,
SKY BLUE FOODS LLO BLUES DBA CHINA BL	C DBA SIMPLY LUES DBA SKY	\$36.43	\$54,645.00
SKY BLUE FOODS LLO BLUES DBA CHINA BL	C DBA SIMPLY LUES DBA SKY	\$36.43	\$54,645.00
BLUES DBA CHINA BL	LUES DBA SKY		
	1500		ATO 040 00
CS BLUE BAKERY		\$39.36	\$59,040.00
BROCCOLI CUTS, 35% HEAD MATERIAL, GRADE		445.00	*** *** **
9 A, 20# BULK Y CS MCLANE EXPRESS IN	CORPORATED 2000	\$15.23	\$30,460.00
CS. BRAIN BEEF COINC	2000	¢46 00	¢22 600 00
CS BRAUN BEEF CO INC	2000	\$16.80	\$33,600.00
GOOD SOURCE SOLU		*40.00	*** *** ***
COMMODITY CARNITAS, SHREDDED PORK,	S 2000	\$16.99	\$33,980.00
FULLY COOKED, BOIL IN BAG, 400mg SODIUM OR LESS PER 3oz SERVING, NO TRANS FAT,			
10 GLUTEN FREE, 20#/CS N 3TQ CS JTM PROVISIONS CO	INC 500	\$37.25	\$18,625.00
N 4NBV CS BRAUN BEEF CO INC	500	\$38.98	\$19,490.00
N 4NBV CS RICH PRODUCTS COR	RPORATION 500	\$39.00	\$19,500.00
Y CS BROOKWOOD FARMS	S INCORPORATED 500	\$39.20	\$19,600.00
CS ASIAN FOOD SOLUTION	ONS 500	\$56.80	\$28,400.00
BROWNIE, FUDGE, 51% WHOLE GRAIN,			
11 INDIVIDUALLY PACKAGED Y CS J AND J SNACK FOOD	DS CORP 500	\$19.00	\$9,500.00
CS MCLANE EXPRESS IN	ICORPORATED 500	\$22.15	\$11,075.00
GO MOZANE ZA KEGO N	JOOKI CKATED 300	Ψ22.13	ψ11,073.00
CS HEART OF TEXAS BIS	CUITS INC 500	\$24.96	\$12,480.00
SKY BLUE FOODS LLI BLUES DBA CHINA BL			
CS BLUE BAKERY	500	\$31.65	\$15,825.00
CS BUENA VISTA FOOD F	PRODUCTS 500	\$32.75	\$16,375.00

CS NATIONAL FOOD GRO	DUP INC 500	\$40.20	\$20,100.00
CS BRAUN BEEF CO INC	500	44 406	\$22,248.00
DIAGNA BEEF CO INC	300	77.730	¥22,240.00
MARGUERITTE DELLE CS NEWTON BROKERAG		\$64.75	\$32,375.00

Line#	Item Description	Award (Y / N)	Reason Code	иом	Supplier	Qty	Price	Extended Price
Lille#	COMMERCIAL CARNITAS, SHREDDED PORK,	(17N)	Code	UCIVI	Зиррнег	Qiy	Frice	File
	FULLY COOKED, BOIL IN BAG, 400mg SODIUM OR LESS PER 3oz SERVING, NO TRANS FAT,							
12	GLUTEN FREE, 20#/CS	N	1NL	cs	RICH PRODUCTS CORPORATION	500	\$38.00	\$19,000.00
		N	1NL	CS	BROOKWOOD FARMS INCORPORATED	500	\$40.50	\$20,250.00
		Y		cs	MCLANE EXPRESS INCORPORATED	500	\$45.60	\$22,800.00
				cs	BRAUN BEEF CO INC	500	\$49.29	\$24,645.00
				CS	JTM PROVISIONS CO INC	500	\$72.59	\$36,295.00
				cs	GOOD SOURCE SOLUTIONS DBA TOOLS FOR SCHOOLS	500	\$79.00	\$39,500.00
								·
				cs	ADVANCE FOOD CO INC	500	\$80.70	\$40,350.00
	CHICKEN PATTY, BREAKFAST, 51% WHOLE			CS	ASIAN FOOD SOLUTIONS	500	\$122.80	\$61,400.00
	GRAIN BREADING, FULLY COOKED WITH BREAST MEAT CHICKEN AND ISOLATED SOY							
13	PROTEIN, 20#/CS	N	3TQ	CS	BRAUN BEEF CO INC	2500	44.895	\$112,237.50
		Υ		cs	ADVANCE FOOD CO INC	2500	\$47.50	\$118,750.00
				cs	RICH CHICKS, LLC	2500	\$47.80	\$119,500.00
				CS	PILGRIMS PRIDE CORP	2500	\$58.55	\$146,375.00
				cs	TYSON PREPARED FOODS INC	2500	\$88.18	\$220,450.00
						2000	V	4 ==0, 100100
14	CHICKEN BREAST FILET, GRILLED, MADE WITH WHOLE MUSCLE BREAST MEAT, 10#/CS	N	зто	cs	ADVANCE FOOD CO INC	3000	\$33.90	\$101,700.00
		N	1NL	CS	HANKS BROKERAGE	3000	\$35.00	\$105,000.00
		N	9PS	CS	PILGRIMS PRIDE CORP	3000	\$85.26	\$255,780.00
		14	513	- 55	T LEGICINIO T RIDE GORI	3000	ψ03.20	ψ233,700.00
		N	1NL	cs	BRAUN BEEF CO INC	3000	93.275	\$279,825.00
					GOOD SOURCE SOLUTIONS DBA			
		N	1NL	CS	TOOLS FOR SCHOOLS	3000	\$105.25	\$315,750.00
		Y		CS	TYSON PREPARED FOODS INC	3000	\$106.80	\$320,400.00
	COMMODITY POPCORN CHICKEN, 51% WHOLE			-33	- CONTREL AND FOOD INC	3000	\$100.00	-00-10,400.00
15	GRAIN BREADING, BREAST WITH RIB MEAT, 30#/CS	N	9PS	cs	PILGRIMS PRIDE CORP	1000	\$28.80	\$28,800.00
		Υ		cs	TYSON PREPARED FOODS INC	1000	\$40.33	\$40,330.00

		Award	Reason					Extended
Line#	Item Description	(Y / N)	Code	UOM	Supplier	Qty	Price	Price
				CS	RICH CHICKS, LLC	1000	\$40.93	\$40,930.00
				cs	OUT OF THE SHELL LLC DBA LINGS	1000	\$119.21	\$119,210.00
	COMMERCIAL POPCORN CHICKEN, 51% WHOLE GRAIN BREADING, BREAST WITH RIB MEAT,							
16	30#/CS	N	1NL	CS	ADVANCE FOOD CO INC	1000	\$40.10	\$40,100.00
		N	9PS	cs	PILGRIMS PRIDE CORP	1000	\$40.89	\$40,890.00
		N	1NL	CS	RICH CHICKS, LLC	1000	\$47.80	\$47,800.00
		N	1NL	CS	BRAUN BEEF CO INC	1000	52.685	\$52,685.00
		Υ		cs	TYSON PREPARED FOODS INC	1000	\$55.38	\$55,380.00
	COMMODITY CHICKEN TENDERS, 50% WHOLE			CS	OUT OF THE SHELL LLC DBA LINGS	1000	\$119.21	\$119,210.00
	GRAIN BREADED, WHOLE MUSCLE, TYSON							
17	#703322-928 OR EQUAL COMMODITY CHICKEN TENDERS, 50% WHOLE	Y		CS	TYSON PREPARED FOODS INC	5000	\$63.53	\$317,650.00
	GRAIN BREADED, WHOLE MUSCLE, SPICY							
18	FLAVOR COMMERCIAL CHICKEN TENDERS, 50% WHOLE	Υ		CS	TYSON PREPARED FOODS INC	5000	\$65.08	\$325,400.00
40	GRAIN BREADED, WHOLE MUSCLE, TYSON			-00	ADVANCE FOOD OO INO	5000	****	*400.050.00
19	#703322-928 OR EQUAL	N	9PS	CS	ADVANCE FOOD CO INC	5000	\$20.41	\$102,050.00
			270	00	DICH CHICKS 11 C	5000	£47.00	*220 000 00
		N	3TQ	CS	RICH CHICKS, LLC	5000	\$47.80	\$239,000.00
		N	9PS	cs	BRAUN BEEF CO INC	5000	¢60.60	\$303,400.00
		IN	973	CS	BRAUN BEEF CO INC	3000	\$00.00	\$303,400.00
		Y		Ce	TYSON PREPARED FOODS INC	5000	¢07 11	\$485,550.00
	COMMERCIAL CHICKEN TENDERS, 50% WHOLE			00	THOCK THE ARED TOODS INC	3000	Ψ37.11	\$403,330.00
20	GRAIN BREADED, WHOLE MUSCLE, SPICY FLAVOR	N	зто	cs	RICH CHICKS, LLC	5000	\$48 20	\$241,000.00
			3.4			5550	Ţ-10.20	1,000.00
		Υ		cs	TYSON PREPARED FOODS INC	5000	\$98.66	\$493,300.00
							_,	
21	CHICKEN FAJITAS, RAW, MARINATED, LOW SODIUM, PRE-CUT STRIPS, 7/2#, 10#/CS	Υ		CS	MCLANE EXPRESS INCORPORATED	5000	\$25,41	\$127,050.00
				cs	BRAUN BEEF CO INC	5000	\$25.42	\$127,100.00
					-			,
				cs	TYSON PREPARED FOODS INC	5000	\$44.00	\$220,000.00
	CHICKEN WATER E DREAMENT CANDINGS.							
	CHICKEN WAFFLE BREAKFAST SANDWICH, 51% WHOLE GRAIN BREADED CHICKEN PATTY							
	BETWEEN TWO 51% WHOLE GRAIN WAFFLES, INDIVIDUALLY WRAPPED, 50/CS, PEACH	No			EICHENLAUB INCORPORATED DBA			
22	VALLEY BAKERY #PVB 9705NL/50 OR SIMILAR	Award		cs	SUMMIT FOOD BROKERS	1500	\$33.19	\$49,785.00
					PRAIRIE MILLS BAKING COMPANY LLC			
				cs	DBA BAKE CRAFTERS FOOD COMPANY	1500	\$70.63	\$105,945.00

Line#	Item Description	Award (Y / N)	Reason Code	UOM	Cumpliar	Qty	Price	Extended Price
LITIE#	item bescription	(17N)	Code	OOW	Supplier	Qiy	Frice	Frice
23	CHILI, THREE BEAN, 6/5# BAGS/CS	Υ		cs	JTM PROVISIONS CO INC	1000	\$43.34	\$43,340.00
	CINNAMON ROLL, MINIS, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN, 72/CS,							
24	GENERAL MILLS #138413000 OR EQUAL	N	4NS	CS	SUPER BAKERY INC	1500	\$25.79	\$38,685.00
		N	4NS	cs	PRAIRIE MILLS BAKING COMPANY LLC DBA BAKE CRAFTERS FOOD COMPANY	1500	\$27.12	\$40,680.00
		Υ		cs	SKY BLUE FOODS LLC DBA SIMPLY BLUES DBA CHINA BLUES DBA SKY BLUE BAKERY	1500	\$27.77	\$41,655.00
				cs	BRAUN BEEF CO INC	1500	28.937	\$43,405.50
				66	MCI ANE EXPRESS INCORPORATED	4500	£20.07	£42 COE 00
	CINNAMON ROLL DOUGH, 51% WHOLE GRAIN,			CS	MCLANE EXPRESS INCORPORATED	1500	\$29.07	\$43,605.00
25	WHITE-WHOLE WHEAT FLOUR, INDIVIDUALLY QUICK FROZEN, PRE-CUT	Υ		cs	BRIDGFORD MARKETING COMPANY	1000	\$24.70	\$24,700.00
							****	****
				CS	BRAUN BEEF CO INC	1000	\$24.98	\$24,980.00
				cs	RICH PRODUCTS CORPORATION	1000	\$25.00	\$25,000.00
				cs	MCLANE EXPRESS INCORPORATED	1000	\$25.45	\$25,450.00
				cs	J AND J SNACK FOODS CORP	1000	\$27.95	\$27,950.00
	COOKIE DOUGH, BUTTER SUGAR, REDUCED FAT, 51% WHOLE GRAIN, NUT FREE							
26	PREFERRED	N	ЗТО	CS	MCLANE EXPRESS INCORPORATED	750	\$29.23	\$21,922.50
		N	зто	cs	BRAUN BEEF CO INC	750	30.156	\$22,617.00
		N	зто	cs	J AND J SNACK FOODS CORP	750	\$31.15	\$23,362.50
		Υ		cs	*ADVANCE SALES & MARKETING INCORPORATED	750		
				cs	MARGUERITTE DELLE NEWTON DBA NEWTON BROKERAGE	750	\$47.04	\$35,280.00
27	CINNAMON TOAST, ULTRAGRAIN, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN, 120/CS, INTEGRATED #430000 OR EQUAL	Y		cs	INTEGRATED FOOD SERVICE	1500	\$35.89	\$53,835.00
28	COOKIE DOUGH, CARNIVAL, REDUCED FAT, 51% WHOLE GRAIN, NUT FREE PREFERRED	N	зто	cs	RICH PRODUCTS CORPORATION	1500	\$28.00	\$42,000.00
			٠.٠٠				Ţ_0.00	Ţ. <u></u> ,555100
		N	зто	cs	J AND J SNACK FOODS CORP	1500	\$33.15	\$49,725.00
		N	3TQ	cs	MCLANE EXPRESS INCORPORATED	1500	\$33.37	\$50,055.00
		14	31Q	- 03	INCLARE EXTRESS INCORPORATED	1300	φυυ.υ1	φυσ,συσ.συ
		N	зто	cs	BRAUN BEEF CO INC	1500	33.465	\$50,197.50
		Y		cs	*ADVANCE SALES & MARKETING INCORPORATED	1500		

		Award	Reason					Extended
Line#	Item Description	(Y / N)	Code	UOM	Supplier	Qty	Price	Price
					MARGUERITTE DELLE NEWTON DBA			
				cs	NEWTON BROKERAGE	1500	\$39.36	\$59,040.00
	COOKIE DOUGH, CHOCOLATE CHIP, REDUCED FAT, 51% WHOLE GRAIN, NUT FREE							
29	PREFERRED	N	4NS	cs	RICH PRODUCTS CORPORATION	2000	\$25.50	\$51,000.00
		N	зто	cs	J AND J SNACK FOODS CORP	2000	\$31.15	\$62,300.00
		N	зто	cs	MCLANE EXPRESS INCORPORATED	2000	\$33.11	\$66,220.00
		N	3TQ	cs	BRAUN BEEF CO INC	2000	33.465	\$66,930.00
					*ADVANCE SALES & MARKETING			
		Υ		cs	INCORPORATED	2000		
					MARCHERITTE DELLE NEWTON DRA			
				cs	MARGUERITTE DELLE NEWTON DBA NEWTON BROKERAGE	2000	\$47.04	\$94,080.00
	CORN DOG, BEEF AND/OR POULTRY, 4 OZ, 51%							
	WHOLE GRAIN SWEET BATTER, SKELETAL							
30	MEAT ONLY, FAT NOT TO EXCEED 20%, MUST WEIGH 3.2 OZ OR MORE, LOW FAT AND SODIUM	N	3TQ	cs	FOSTER POULTRY FARMS DBA FOSTER FARMS	2000	\$22.50	\$45,000.00
								, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
		Υ		cs	GOODMAN FOOD PRODUCTS DBA DON LEE FARMS	2000	\$23.04	\$46,080.00
				cs	HANKS BROKERAGE	2000	\$35.19	\$70,380.00
					THAT BROKERNOL	2000	\$00.10	ψ1 0,000.00
31	CORN, CUT, 20 LB BULK, GRADE A FANCY, USAGE DEPENDS ON USDA ALLOCATION	Y		cs	MCLANE EXPRESS INCORPORATED	5000	\$13.79	\$68,950.00
31	COACE DELENDO ON CODA ALLOCATION	' ' ' ' ' ' ' ' ' ' ' ' ' ' ' ' ' ' '		00	INGLANE EXI NEGO INGGRI GRATED	3000	\$15.75	ψ00,330.00
				cs	BRAUN BEEF CO INC	5000	\$13.94	\$69,700.00
				CS	BRAUN BEEF CO INC	3000	\$13.54	\$69,700.00
				cs	GOOD SOURCE SOLUTIONS DBA	5000	\$17.70	\$88.500.00
	CUPCAKES, VANILLA OR SIMILAR, 51% WHOLE			CS	TOOLS FOR SCHOOLS	5000	\$17.70	\$66,500.00
	GRAIN, 35% OR LESS TOTAL CAL FAT, 10% OR							
	LESS CAL FROM SATURATED FAT, NO TRANS FAT, LESS THAN 230 MG SODIUM, NO MORE							
32	THAN 35% BY WEIGHT SUGAR, NO MORE THAN 200 CALORIES	Υ		cs	SUPER BAKERY INC	500	\$23.32	\$11,660.00
JZ	CUPCAKES, CHOCOLATE OR SIMILAR, 51%	'		00	OUT EN DAILENT INC	300	₩ 2 3.32	φ11,000.00
	WHOLE GRAIN, 35% OR LESS TOTAL CAL FAT, 10% OR LESS CAL FROM SATURATED FAT, NO							
	TRANS FAT, LESS THAN 230 MG SODIUM, NO							
33	MORE THAN 35% BY WEIGHT SUGAR, NO MORE THAN 200 CALORIES	Υ		cs	SUPER BAKERY INC	500	\$23.32	\$11,660.00
34	DINNER ROLLS, FROZEN DOUGH, 51% WHOLE GRAIN WHITE WHEAT FLOUR, 240/CS	N	1NL	cs	BRIDGFORD MARKETING COMPANY	4000	\$18.30	\$73,200.00
								,
		N	зто	cs	J AND J SNACK FOODS CORP	4000	\$19.90	\$79,600.00
		.,	310	35	C.L.D COMORT CODO COR		ψ.σ.σο	ψ. υ,υυυ.υ <u>υ</u>
		N	4NS	cs	RICH PRODUCTS CORPORATION	4000	\$20.00	\$80,000.00
		IN	-HIVO	- 53	NIGHT RODUCTS CORFORATION	4000	φ20.00	φου,υυυ.υυ
			4411		PRAIRIE MILLS BAKING COMPANY LLC	4000	#00.00	¢00 000 00
		N	1NL	CS	DBA BAKE CRAFTERS FOOD COMPANY	4000	\$23.23	\$92,920.00

		Award	Reason					Extended
Line#	Item Description	(Y / N)	Code	UOM	Supplier	Qty	Price	Price
		N	4NS	cs	C H GUENTHER & SON INC DBA PIONEER FLOUR MILLS	4000	\$27.70	\$110,800.00
		Υ		cs	BRAUN BEEF CO INC	4000	29.795	\$119,180.00
35	EGG ROLL, VEGETABLE, 51% WHOLE GRAIN, 100/CS	N	зто	cs	WINDSOR QUALITY FOODS COMPANY LTD DBA WINDSOR FOODS	1000	\$24.24	\$24,240.00
		N	зто	cs	CHEFS CORNER FOODS	1000	\$36.88	\$36,880.00
		N	зто	cs	ASIAN FOOD SOLUTIONS	1000	\$41.50	\$41,500.00
		Y		cs	SCHWANS FOOD SERVICE	1000	\$58.00	\$58,000.00
36	ENCHILADAS, THREE CHEESE, 51% WHOLE GRAIN CORN TORTILLA, BULK PACK	Y			INTEGRATED FOOD SERVICE	1000	\$41.85	
00		•		J	INTEGRATES FOOD SERVICE	1000	\$ 71.00	\$71,000.00
				cs	BRAUN BEEF CO INC	1000	47.427	\$47,427.00
							A	
	FISH, ALASKAN POLLOCK, 51% WHOLE GRAIN			CS	MCI FOODS INC	1000	\$47.51	\$47,510.00
37	NACHO BREADING, SUITABLE FOR BAKING NOT FRYING	N	4NS	cs	BRAUN BEEF CO INC	2000	\$20.19	\$40,380.00
		Y		cs	HIGH LINER FOODS USA INC	2000	\$42.60	\$85,200.00
	FLATBREAD, FROZEN, 6X6, PRE-COOKED, 51% WHOLE WHITE WHEAT, GRILL MARKS ON BOTTOM AND BUBBLED BROWNING SPOTS ON							
38	TOP, 192/CS, RICH'S #14010 OR EQUAL	N	1NL	cs	BUENA VISTA FOOD PRODUCTS	1500	\$19.25	\$28,875.00
		N	1NL	cs	PRAIRIE MILLS BAKING COMPANY LLC DBA BAKE CRAFTERS FOOD COMPANY	1500	\$22.16	\$33,240.00
		N	4NS	CS	THE FATHERS TABLE LLC	1500	\$23.90	\$35,850.00
		Υ		cs	BRAUN BEEF CO INC	1500	\$33.23	\$49,845.00
				cs	RICH PRODUCTS CORPORATION	1500	\$33.25	\$49,875.00
				cs	MCLANE EXPRESS INCORPORATED	1500	\$33.67	\$50,505.00
	FRENCH FRIES, REDUCED SODIUM, SEASONED, THIN CUT, NO MORE THAN 150mg SODIUM PER					10000	64	4470 000 5
39	1/2 CUP SERVING, OVEN READY, 6/5#BAGS/CS	N	9PS	CS	LAMB WESTON SALES INC	10000	\$17.33	\$173,300.00
		N	зто	cs	*CAVENDISH FARMS INCORPORATED	10000		
		N	зто	cs	J R SIMPLOT COMPANY	10000	\$19.49	\$194,900.00
		Υ		cs	*MCCAIN FOODS	10000		

		Award	Reason					Extended
Line#	Item Description	(Y / N)	Code	UOM	Supplier	Qty	Price	Price
	FRENCH TOAST, MINIS, CINNAMON OR MAPLE FLAVOR, INDIVIDUALLY WRAPPED, 72/CS,							
40	PILLSBURY #137309000 OR EQUAL	Υ		CS	*PINNACLE FOODS CORPORATION	1500		
					*THE MASTERS DISTRIBUTION			
		Υ	ALT	cs	SYSTEMS	1500		
				CS	MCLANE EXPRESS INCORPORATED	1500	\$26.47	\$39,705.00
					PRAIRIE MILLS BAKING COMPANY LLC			
				CS	DBA BAKE CRAFTERS FOOD COMPANY	1500	\$36.54	\$54,810.00
						4500	450.00	
	GINGERBREAD, TEXAS SHAPED, INDIVIDUALLY			CS	BRAUN BEEF CO INC	1500	\$50.90	\$76,350.00
44	WRAPPED, 51% WHOLE GRAIN, 100/CS, LUX	.,		00	DRAUN DEEE CO INC	4000	¢25.00	¢25 000 00
41	BAKERY #2 OR EQUAL	Υ		CS	BRAUN BEEF CO INC	1000	\$35.90	\$35,900.00
				cs	MCLANE EXPRESS INCORPORATED	1000	\$36.37	\$36,370.00
				03	MICEANE EXPRESS INCORPORATED	1000	\$30.37	\$30,370.00
42	JUICE, APPLE, FROZEN, 4 OZ 100% JUICE, 96/CS	Y		CS	CAL-TEX CITRUS JUICE LLP	19000	\$9.14	\$173,660.00
72	0010_, Att 1, 1 to			- 55	CAL TEX CITAGO GOIGE EEI	10000	Ψ3.17	• • • • • • • • • • • • • • • • • • •
43	JUICE, ORANGE, FROZEN, 4 OZ 100% JUICE, 96/CS	Υ		cs	CAL-TEX CITRUS JUICE LLP	24000	\$10.85	\$260,400.00
								, , , , , , , , , , , , , , , , , , , ,
44	MARGARINE SOLIDS, 30/1 LB, NO TRANS FAT, ALL VEGETABLE	Υ		cs	MCLANE EXPRESS INCORPORATED	1500	\$22.83	\$34,245.00
	MARRINITOS (MOLASSES BREAD),							
45	INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN, 100/CS, LUZ BAKERY #7 OR EQUAL	Υ		cs	BRAUN BEEF CO INC	1000	\$35.90	\$35,900.00
				cs	MCLANE EXPRESS INCORPORATED	1000	\$36.67	\$36,670.00
	MIXED VEGETABLES, KYOTO BLEND,							
	EDAMAME, BROCCOLI FLORETS, JULIENNE CARROTS, CUT CORN, DICED RED PEPPERS,							
46	IQF, 6/2.5lb BAGS/CS	Υ		cs	MCLANE EXPRESS INCORPORATED	1000	\$23.07	\$23,070.00
					GOOD SOURCE SOLUTIONS DBA			
	MUFFIN, CINNAMON SPICE CARROT,			CS	TOOLS FOR SCHOOLS	1000	\$24.20	\$24,200.00
	INDIVIDUALLY WRAPPED, 90/3oz/CS, HEART OF				PRAIRIE MILLS BAKING COMPANY LLC	4500	646.4 =	004 =00 65
47	TEXAS #145530 OR EQUAL	N	4NS	CS	DBA BAKE CRAFTERS FOOD COMPANY SKY BLUE FOODS LLC DBA SIMPLY	1500	\$16.48	\$24,720.00
		. .	1811	Ce	BLUES DBA CHINA BLUES DBA SKY	1500	¢17 70	\$26,550.00
		N	1NL	US	BLUE BAKERY	1500	\$17.70	φ ∠ υ,33υ.00
		N	1NL	Ce	MCLANE EXPRESS INCORPORATED	1500	\$22 AF	\$35,175.00
		14	TIAL	55	MODELLE EXTRECO MODILE ONATED	1300	Ψ23.43	ψου, 17 ο.00
		Υ		CS.	HEART OF TEXAS BISCUITS INC	1500	\$25.20	\$37,800.00
	MIXED VEGETABLES, GREEN BEANS, LIMA							
48	BEANS, CARROTS, CORN AND PEAS, GRADE A, 12/2.5#	Υ		cs	BRAUN BEEF CO INC	1000	14.863	\$14,863.00
				cs	GOOD SOURCE SOLUTIONS DBA TOOLS FOR SCHOOLS	1000	\$20.60	\$20,600.00
				cs	MCLANE EXPRESS INCORPORATED	1000	\$26.23	\$26,230.00

			Reason					Extended
Line#	Item Description MIXED VEGETABLES, TUSCAN BLEND, WHOLE	(Y / N)	Code	UOM	Supplier	Qty	Price	Price
49	MIXED VEGETABLES, TUSCAN BLEND, WHOLE GREEN BEANS, SLICED CARROTS, YELLOW SQUASH, ZUCCHINI, AND RED PEPPER STRIPS, IQF, 6/2.51b BAGS/CS	N	4NS	cs	GOOD SOURCE SOLUTIONS DBA TOOLS FOR SCHOOLS	1000	\$23.95	\$23,950.00
		Y		cs	MCLANE EXPRESS INCORPORATED	1000	\$29.65	\$29,650.00
50	MUFFIN, CORN, WHOLE GRAIN, INDIVIDUALLY WRAPPED, 90/CS	N	3PQI	cs	PRAIRIE MILLS BAKING COMPANY LLC DBA BAKE CRAFTERS FOOD COMPANY	500	\$15.59	\$7,795.00
		N	зто	cs	BRAUN BEEF CO INC	500	\$17.74	\$8,870.00
			4811	ce	CUPED BAVEDY INC	500	\$20.92	\$40.460.00
		N	1NL		SUPER BAKERY INC SKY BLUE FOODS LLC DBA SIMPLY BLUES DBA CHINA BLUES DBA SKY			
		N	3TQ	CS	BLUE BAKERY	500	\$21.90	\$10,950.00
		N	1NL	cs	MCLANE EXPRESS INCORPORATED	500	\$22.37	\$11,185.00
		N	зто	cs	NATIONAL FOOD GROUP INC	500	\$23.75	\$11,875.00
		Y		cs	HEART OF TEXAS BISCUITS INC	500	\$25.20	\$12,600.00
				cs	BUENA VISTA FOOD PRODUCTS	500	\$26.75	\$13,375.00
51	PANCAKE MINIS, 51% WHOLE GRAIN, MAPLE FLAVOR, SINGLE SERVE, OVENABLE POUCH, 2 OZ GRAIN EQUIVALENT, 72/CS	N	1NL	cs	DE WAFELBAKKERS LLC	1500	\$23.96	\$35,940.00
		Y		cs	PRAIRIE MILLS BAKING COMPANY LLC DBA BAKE CRAFTERS FOOD COMPANY	1500	\$24.18	\$36,270.00
		Y	ALT	cs	*ES FOODS	1500		
				cs	*PINNACLE FOODS CORPORATION	1500		
				cs	MCLANE EXPRESS INCORPORATED	1500	\$25.17	\$37,755.00
					*THE MASTERS DISTRIBUTION SYSTEMS	1500		
				cs	BRAUN BEEF CO INC	1500	\$25.95	\$38,925.00
				cs	CONAGRA FOODS INCORPORATED	1500	\$36.11	·
	PANCAKE MINIS, 51% WHOLE GRAIN, APPLE CINNAMON FLAVOR, SINGLE SERVE, OVENABLE POUCH, 2 OZ GRAIN EQUIVALENT,			35	PRAIRIE MILLS BAKING COMPANY LLC		450.11	+ 5 ., 100.00
52	72/CS	N	4NS	CS	DBA BAKE CRAFTERS FOOD COMPANY	1500	\$22.68	\$34,020.00
		Y		cs	DE WAFELBAKKERS LLC	1500	\$23.96	\$35,940.00
				cs	*PINNACLE FOODS CORPORATION	1500		

		Award	Reason					Extended
Line#	Item Description	(Y/N)	Code	иом	Supplier	Qty	Price	Price
				cs	MCLANE EXPRESS INCORPORATED	1500	\$25.17	\$37,755.00
53	MUFFIN TOP, BLUEBERRY, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN, 60/CS	N	4NS	cs	PRAIRIE MILLS BAKING COMPANY LLC DBA BAKE CRAFTERS FOOD COMPANY	1500	\$16.33	\$24,495.00
_		N	зто	cs	MCLANE EXPRESS INCORPORATED	1500	\$16.91	\$25,365.00
		N	1NL	cs	NATIONAL FOOD GROUP INC	1500	\$19.00	\$28,500.00
		Y		cs	BUENA VISTA FOOD PRODUCTS	1500	\$22.75	\$34,125.00
54	PANCAKE AND SAUSAGE BREAKFAST BITES, SAUSAGE LINKS WRAPPED IN 51% WHOLE GRAIN PANCAKE, 10#/CS	Y		cs	FOSTER POULTRY FARMS DBA FOSTER FARMS	1500	\$23.90	\$35,850.00
	PANCAKE & TURKEY SAUSAGE BREAKFAST			cs	PRAIRIE MILLS BAKING COMPANY LLC DBA BAKE CRAFTERS FOOD COMPANY	1500	\$77.33	\$115,995.00
55	STICKS, BLUEBERRY, 51% WHOLE GRAIN, INDIVIDUALLY WRAPPED IN PERFORATED, OVENABLE WRAP, 40/CS PEANUT BUTTER & JELLY SANDWICH, GRAPE,	Y		cs	PRAIRIE MILLS BAKING COMPANY LLC DBA BAKE CRAFTERS FOOD COMPANY	1500	\$77.33	\$115,995.00
56	INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN, CRUST REMOVED, 72/CASE, SMUCKERS #6960 OR EQUAL	Υ		cs	ADVANCE FOOD CO INC	2000	\$29.34	\$58,680.00
				cs	BRAUN BEEF CO INC	2000	\$40.39	\$80,780.00
57	COMMODITY PEPPER JACK PROCESSED AMERICAN CHEESE, 120 SLICES/5#	Υ		cs	BONGARDS CREAMERIES	250	\$15.48	\$3,870.00
				cs	ADVANTAGE WAYPOINT LLC	250	\$21.48	\$5,370.00
58	COMMERCIAL PEPPER JACK PROCESSED AMERICAN CHEESE, 120 SLICES/5#	Y		cs	BONGARDS CREAMERIES	250	\$40.82	\$10,205.00
				cs	ADVANTAGE WAYPOINT LLC	250	\$45.31	\$11,327.50
59	QUESADILLA, CHEESE AND GREEN CHILE, 51% WHOLE GRAIN TORTILLA, 48/CS	Υ	#65227 \$30.73 - same		MCI FOODS INC	2600	\$34.00	\$88,400.00
	DUDDING GUDG GURLANI V. GASSASSASSASSASSASSASSASSASSASSASSASSASS			cs	SCHWANS FOOD SERVICE	2600	\$65.20	\$169,520.00
60	PUDDING CUPS, SKIM MILK, CHOCOLATE BROWNIE FLAVOR OR SIMILAR, ZERT'S OR EQUAL	N	4NS	cs	CONAGRA FOODS INCORPORATED	500	\$13.45	\$6,725.00
		N	1NL	cs	ADVANTAGE WAYPOINT LLC	500	\$16.81	\$8,405.00
		Υ		cs	BRAUN BEEF CO INC	500	\$20.98	\$10,490.00
				cs	RICH PRODUCTS CORPORATION	500	\$21.00	\$10,500.00
				cs	MCLANE EXPRESS INCORPORATED	500	\$21.69	\$10,845.00
61	PRETZEL ROLL, PRE-SLICED, 51% WHOLE GRAIN, LOW SODIUM, 120/CS	Υ		cs	J AND J SNACK FOODS CORP	1000	\$36.00	\$36,000.00

		Award	Reason					Extended
Line#	Item Description	(Y / N)	Code	UOM	Supplier	Qty	Price	Price
62	PUDDING CUPS, SKIM MILK, BIRTHDAY CAKE VANILLA OR SIMILAR, ZERT'S OR EQUAL	N	4NS	cs	CONAGRA FOODS INCORPORATED	500	\$13.45	\$6,725.00
		N	1NL	cs	ADVANTAGE WAYPOINT LLC	500	\$16.81	\$8,405.00
		Υ		cs	BRAUN BEEF CO INC	500	\$20.98	\$10,490.00
				cs	RICH PRODUCTS CORPORATION	500	\$21.00	\$10,500.00
				cs	MCLANE EXPRESS INCORPORATED	500	\$21.69	\$10,845.00
63	ROLL, DINNER, GLUTEN FREE, 51% WHOLE GRAIN, BREADSTICK OR SIMILAR			cs		50	NB	NB
64	ROLL, DINNER, 51% WHOLE WHEAT, FROZEN, 240/CS	No Award		cs	BRIDGFORD MARKETING COMPANY	7000	\$14.50	\$101,500.00
				cs	BRAUN BEEF CO INC	7000	\$15.16	\$106,120.00
				cs	PRAIRIE MILLS BAKING COMPANY LLC DBA BAKE CRAFTERS FOOD COMPANY	7000	\$19.78	\$138,460.00
				cs	*CHURCHFIELD TRADING COMPANY	7000		
					C H GUENTHER & SON INC DBA			
				CS	PIONEER FLOUR MILLS	7000	\$29.70	\$207,900.00
	CALLOE ODIDACIJA DOU IN DAG NO MODE			cs	SUPER BAKERY INC	7000	\$42.22	\$295,540.00
65	SAUCE, SRIRACHA, BOIL IN BAG, NO MORE THAN 100mg SODIUM PER 1oz SERVING, 6/5 LBS/CASE, JTM #5707 OR EQUAL	N	4NS	cs	ASIAN FOOD SOLUTIONS	200	\$47.50	\$9,500.00
		N	4NS	cs	CHEFS CORNER FOODS	200	\$56.38	\$11,276.00
		Υ		cs	JTM PROVISIONS CO INC	200	\$56.48	\$11,296.00
66	SAUCE, SWEET CHILI, BOIL IN BAG, NO MORE THAN 350mg SODIUM PER 1oz SERVING, 4/5# BAGS, JTM #5707 OR EQUAL	Y		cs	SCHWANS FOOD SERVICE	500	\$42.84	\$21,420.00
				cs	ASIAN FOOD SOLUTIONS	500	\$49.00	\$24,500.00
				cs	CHEFS CORNER FOODS	500	\$56.38	\$28,190.00
				cs	JTM PROVISIONS CO INC	500	\$56.48	\$28,240.00
67	SANDWICH, HAM & CHEESE, INDIVIDUALLY PACKAGED, 51% WHOLE GRAIN BREAD	Y		cs	ADVANCE FOOD CO INC	100	\$31.40	\$3,140.00
				cs	*TASTY BRANDS LLC	100		
				cs	PRAIRIE MILLS BAKING COMPANY LLC DBA BAKE CRAFTERS FOOD COMPANY	100	\$62.62	\$6,262.00

		Award	Reason					Extended
Line#	Item Description	(Y / N)	Code	UOM	Supplier	Qty	Price	Price
				cs	INTEGRATED FOOD SERVICE	100	\$64.50	\$6,450.00
	SAUSAGE AND BISCUIT SANDWICH, POULTRY SAUSAGE, INDIVIDUALLY WRAPPED 51% WHOLE GRAIN, 96/2.6 OZ, HEART OF TEXAS							
68	#75185 OR EQUAL	Y		CS	HEART OF TEXAS BISCUITS INC	1500	\$21.60	\$32,400.00
				cs	ADVANCE FOOD CO INC	1500	\$47.40	\$71,100.00
				cs	PRAIRIE MILLS BAKING COMPANY LLC DBA BAKE CRAFTERS FOOD COMPANY	1500	\$81.68	\$122,520.00
				cs	TYSON PREPARED FOODS INC	1500	\$85.78	\$128,670.00
69	SAUSAGE ROLL, BREAKFAST, KNOCKWURST WRAPPED IN 51% WHOLE GRAIN DOUGH BAKED, LOW SODIUM, 20z, DOUBLE B #4089 OR EQUAL	N	9PS	cs	BRAUN BEEF CO INC	1000	23.575	\$23,575.00
		Y			DOUBLE B FOODS	1000	\$24.00	
					MCLANE EXPRESS INCORPORATED	1000		\$25,030.00
	SAUSAGE ROLL, BREAKFAST, JALAPENO, KNOCKWURST WRAPPED IN 51% WHOLE GRAIN DOUGH BAKED, LOW SODIUM, 2-2.5oz, DOUBLE							
70	B OR EQUAL	Y		cs	DOUBLE B FOODS	1000	\$23.00	\$23,000.00
				cs	MCLANE EXPRESS INCORPORATED	1000	\$24.03	\$24,030.00
	SAUSAGE ROLL, BREAKFAST, KNOCKWURST WRAPPED IN 51% WHOLE GRAIN DOUGH			cs	BRAUN BEEF CO INC	1000	25.625	\$25,625.00
71	BAKED, LOW SODIUM, 2.5oz, DOUBLE B #4086 OR EQUAL	N	9PS	cs	BRAUN BEEF CO INC	1500	\$20.50	\$30,750.00
		Y		cs	DOUBLE B FOODS	1500	\$22.00	\$33,000.00
				cs	MCLANE EXPRESS INCORPORATED	1500	\$22.97	\$34,455.00
72	SHRIMP POPPERS, 51% WHOLE GRAIN BREADING, 10# CS, SEAPAK #47039 OR EQUAL	Y		cs	BRAUN BEEF CO INC	1500	\$27.98	\$41,970.00
				cs	RICH PRODUCTS CORPORATION	1500	\$28.00	\$42,000.00
				cs	MCLANE EXPRESS INCORPORATED	1500	\$28.39	\$42,585.00
				cs	TAMPA MAID FOODS INC	1500	\$48.96	\$73,440.00
73	SLIDER BUN, PRE-SLICED, 51% WHOLE GRAIN, 168/CS	N	1NL	cs	BRAUN BEEF CO INC	3000	14.918	\$44,754.00
		N	1NL	cs	MCLANE EXPRESS INCORPORATED	3000	\$14.95	\$44,850.00

		Award	Reason					Extended
Line#	Item Description	(Y / N)	Code	UOM	Supplier	Qty	Price	Price
		Υ		cs	*CHURCHFIELD TRADING COMPANY	3000		
		'		00		3000		
				cs	PRAIRIE MILLS BAKING COMPANY LLC DBA BAKE CRAFTERS FOOD COMPANY	3000	\$30.67	\$92,010.00
				cs	SUPER BAKERY INC	3000	\$42.29	\$126,870.00
	COMMODITY SWISS PROCESS AMERICAN							
74	CHEESE, SLICED, 4/5#/CS	Y		CS	BONGARDS CREAMERIES	250	\$12.53	\$3,132.50
				CS	ADVANTAGE WAYPOINT LLC	250	\$28.68	\$7,170.00
75	COMMERCIAL SWISS PROCESS AMERICAN CHEESE, SLICED, 4/5#/CS	Y		Ce	BONGARDS CREAMERIES	250	\$39.93	\$9,982.50
13	GHEESE, SEIGED, 4/3#/65	·		CG	BONGARDS GREAIMERIES	230	433.33	ψ9,902.30
				cs	ADVANTAGE WAYPOINT LLC	250	\$46.51	\$11,627.50
	STRAWBERRIES, SLICED, 4 OZ FROZEN INDIVIDUAL CUPS, GRADE A, FANCY, NO SUGAR							
76	ADDED, USAGE DEPENDS ON USDA ALLOCATION			cs		500	NB	NB
	STRAWBERRIES, NO SUGAR ADDED, SLICED, FROZEN, GRADE A, FANCY, 6/6.5# CASE, USAGE							
77	DEPENDS ON USDA ALLOCATION	Υ		cs	MCLANE EXPRESS INCORPORATED	7000	\$19.01	\$133,070.00
	TORNADOS, SOUTHWEST CHICKEN, 51% WHOLE GRAIN TORTILLA, 24/CS, RUIZ FOODS							
78	OR SIMILAR	Υ		CS	*RUIZ FOODS INCORPORATED	200		
	TORNADOS, RANCHERO BEEF, 51% WHOLE	Y	ALT	CS	TYSON PREPARED FOODS INC	200	\$30.96	\$6,192.00
79	GRAIN TORTILLA, 24/CS, RUIZ FOODS OR SIMILAR	Y		CS	*RUIZ FOODS INCORPORATED	250		
73				- 00	ROLL I GODO INGORI GRATED	230		
		Υ	ALT	cs	TYSON PREPARED FOODS INC	250	\$23.70	\$5,925.00
	TAMALE, GREEN CHILE CHICKEN, 51% WHOLE							
80	GRAIN, IN HUSK	Υ		cs	PADRINO FOODS LLC	1500	\$49.00	\$73,500.00
				CS	MCLANE EXPRESS INCORPORATED	1500	\$49.73	\$74,595.00
	TAMALE, PINTO BEAN AND CHEDDAR CHEESE,							
	IN HUSK, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN CORN MASA, GLUTEN FREE, 100/CS,							
81	PADRINO FOODS #04-300 OR EQUAL SUNBUTTER AND GRAPE JELLY SANDWICH,	Υ		CS	PADRINO FOODS LLC	1500	\$48.00	\$72,000.00
82	INDIVIUALLY WRAPPED, 51% WHOLE GRAIN WITH CRUSTS REMOVED, 96/CS	Y		CS.	BRAUN BEEF CO INC	500	\$40.39	\$20,195.00
				-33				<i>\$2.</i> 0,1100.00
	TORTILLAS, FLOUR, 10", PRESSED, 51% WHOLE GRAIN WHITE FLOUR, NO MORE THAN 175mg							
83	SODIUM PER TORTILLA, 8/24 CT/CS	N	9PS	CS	RESERS FINE FOODS INCORPORATED	2000	\$15.30	\$30,600.00
		Υ		cs	BRAUN BEEF CO INC	2000	\$24.92	\$49,840.00
				53	DITAGN BELL GO ING	2000	ΨZ4.3Z	ψ 40,040. 00
				cs	TYSON PREPARED FOODS INC	2000	\$25.88	\$51,760.00
	TORTILLAS, FLOUR, 6", HEAT PRESSED ONLY, 51% WHOLE GRAIN WHITE WHEAT FLOUR, NO							
84	MORE THAN 90mg SODIUM PER TORTILLA, 30/12 CT/CS	N	9PS	CS	RESERS FINE FOODS INCORPORATED	1000	\$19.65	\$19,650.00
			J. J	, 55			, +.J.JJ	+. 5,555.00

		Award	Reason					Extended
Line#	Item Description	(Y / N)	Code	UOM	Supplier	Qty	Price	Price
		N	1NL	cs	TYSON PREPARED FOODS INC	1000	\$23.85	\$23,850.00
		Υ		cs	BRAUN BEEF CO INC	1000	\$25.22	\$25,215.00
85	TERIYAKI CHICKEN, FULLY COOKED CHICKEN LEG MEAT STRIPS IN TERIYAKI SAUCE, GLUTEN FREE, 4/7# BAGS/CS	Y		cs	ASIAN FOOD SOLUTIONS	2000	\$82.88	\$119,260.00
				cs	OUT OF THE SHELL LLC DBA LINGS	2000	\$109.87	\$219,740.00
				cs	SCHWANS FOOD SERVICE	2000	\$126.14	\$252,280.00
	TURKEY HAM, EGG AND CHEESE BREAKFAST			cs	TYSON PREPARED FOODS INC	2000	\$133.14	\$266,280.00
86	WRAP, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN TORTILLA, 100/CS, INTEGRATED #380021 OR EQUAL	N	1NL	cs	PRAIRIE MILLS BAKING COMPANY LLC DBA BAKE CRAFTERS FOOD COMPANY	1500	\$48.83	\$73,245.00
		Y		cs	INTEGRATED FOOD SERVICE	1500	\$49.38	\$74,070.00
				cs	BRAUN BEEF CO INC	1500	55.135	\$82,702.50
87	TURKEY HAM, EGG AND CHEESE BREAKFAST SANDWICH, 51% WHOLE GRAIN,140/CS	No Award		cs	PRAIRIE MILLS BAKING COMPANY LLC DBA BAKE CRAFTERS FOOD COMPANY	1500	\$48.83	\$73,245.00
				cs	INTEGRATED FOOD SERVICE	1500	\$86.24	\$129,360.00
88	WAFFLE STICKS, BULK, 51% WHOLE GRAIN	N	1NL	cs	CONAGRA FOODS INCORPORATED	2500	\$21.88	\$54,700.00
	WHIP TOPPING, PRE-WHIPPED, NON DAIRY	Υ		cs	PRAIRIE MILLS BAKING COMPANY LLC DBA BAKE CRAFTERS FOOD COMPANY	2500	\$30.09	\$75,225.00
89	TOPPING, PACKED IN 16oz PASTRY BAG WITH TIP, EASY OPEN AND SEAL, 12/CS, RICH'S #02559 OR SIMILAR	Υ		cs	BRAUN BEEF CO INC	250	\$30.48	\$7,620.00
				cs	RICH PRODUCTS CORPORATION	250	\$30.50	\$7,625.00
	WAFFLE MINIS, MAPLE FLAVOR OR SIMILAR,			cs	MCLANE EXPRESS INCORPORATED	250	\$31.33	\$7,832.50
90	51% WHOLE GRAIN, SINGLE SERVE, OVENABLE POUCH	No Award		cs	MCLANE EXPRESS INCORPORATED	1000	\$25.17	\$25,170.00
				cs	*THE MASTERS DISTRIBUTION SYSTEMS	1000		
				cs	PRAIRIE MILLS BAKING COMPANY LLC DBA BAKE CRAFTERS FOOD COMPANY	1000	\$30.09	\$30,090.00
				cs	CONAGRA FOODS INCORPORATED	1000	\$34.20	\$34,200.00
91	YOGURT, LOW FAT VANILLA, BULK BAG PACK, 4/6# BAGS/CS	N	4M0	cs	THE DANNON COMPANY INCORPORATED	1500	\$19.50	\$29,250.00

			Reason					Extended
Line#	Item Description	(Y / N)	Code	UOM	Supplier	Qty	Price	Price
		Y		cs	MCLANE EXPRESS INCORPORATED	1500	\$25.27	\$37,905.00
92	YOGURT, LOW FAT, INDIVIDUAL PACKAGED, LOWER SUGAR	N	4MO	cs	THE DANNON COMPANY INCORPORATED	1500	\$9.60	\$14,400.00
		N	4MO	cs	*THE MASTERS DISTRIBUTION SYSTEMS	1500		
		Y		cs	MCLANE EXPRESS INCORPORATED	1500	\$15.59	\$23,385.00